Warm Up
1) Solve the triangle:
a=24,b=28 and ¢ =32
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2) Thereis a 70% chance of rain, a 30% chance
of lightning and a 25% chance of both. What is
the probability of lightning if it is raining
outside?




3) In a 5 day forcast there is an 4/5 chance of
rain each day. What is the probability that it
rains all five days? Exactly 3 of the 5 days?

1024 / 31235

C. (%)

128 / 6235




RA 1 ns

- 25

Height
n
meters

er axle of the Ferris wheel is 30 meters from the ground.

Using the axes below, sketch a graph to show how the height of a
passenger will vary with time.
Assume that the wheel starts rotating when the passenger is at the

bottom. -~
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3)  AFerris wheel’s axis is 50 feet off the ground. The diameter is 80 meters and it takes 8
minutes for the wheel to complete 1 rotation. Sketch a graph that matches the information and

write an equation for the height of someone riding the Ferris wheel.

Height
in
meters

Time in minutes
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U4: Trig Part 11

Word Problems

Law of Sine
Law of Cosine
Sinusoidal Functions




Ex1) The annual high temperature in
Cookville is about 96° and the low is 12°.
Write an equation to model that starts in the

fall. y=- U7 s (257%) +5Y A2
i qg-5q Tl ‘

Ex2) A ferris wheel's axle is 35 feet off the
ground, has a radius of 32 feet and takes S min
to rotate. Write an equation to match.

y = -32605 ("Z’%ﬁ) +55
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Ex1) The following equationggpresents the daylight hours in a small town:
d(t) ‘! in(2rx) + 12,
o f| . : le

a. What 1s the longest day the town has each year?

b. What 1s the shortest day? 12- L’ = 5, hr
C. How long before the daylight hour pattern repeats? [ year
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Ex2) In another city the longest day 1s 15 hours of daylight and the shortest 1s 9 hours. If 1t
takes 1 year for the pattern of hours to repeat, write a sine equation that represents the daylight
hours? !

% 3 sin(L9r 1




Ex3) During high tide Jeff put a stake in the ground to remember how high the water got. The
lowest the tide ever got was 30 feet from the stake, which was 11 hours later. Write an equation
that would represent the tides.

Dor. 035" y= 15 cos(5E)-15
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Ex4) At andther beach Jeff created the following equation to represent the tides in relation to
his chair on the beach:

h(t) = 185m( )+ 20 ]C,;-
a. How far was the water when he started measuring? ZO

b. What 1s the maximum distance the tide was awaz(g 3 8 -Ft

70+1 7 {' ¢
C. What 1s the shortest distance the tide was away? ‘6
d. How long will it take for the tide to repeat its (j'cle‘7 l O }'f
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